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5)        Určete hodnosti matic a zdůvodněte . 

 











1284

321
E  



















05

01

23

F  



















00

42

21

G  



















100

210

031

H

 



















262

000

131

K  























121

112

211

L  

 

 

  LZrrEh  12 4,1  

 

 

  LNkssFh  12,2  

 

 

  123 ,,2 krrorGh 


 

 

 

  3Hh  Gaussův tvar 

 

 

  orrrKh


 213 ,2,1  

 

 

  123,2 rrrLh   
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